Jm
=}
R
| 4
Jm}
=4
3
pr
™
%

TRAE  RAEY FRA K AR B

&
AL R | e T AB W e~ AR
AR < AN A

’f*’}icf%:fﬁ"‘ HEEY Fa3d 2o

KEPIR |1 FEFY P BEF 4 1&FFT LR RE AR _JFli_E_' ) LN
2057230 BV S E FEI EEfR B~ R
SR A A dE B2 4

73 F i

R
fpt g
B A%




FAT I W T AR R A

MR ERRIE (B)

SRIREREERTZE(A)
@E a0 j(
= * BT
+ LI >
5| |H S | TR/ | HEDE \ BT |
i 5 FRTRK | HAMKE BZEE
7| X | = | HERL B/ BB e mm | B s
ISl g (B g BB | (R A | SEE e i (C=A+8) | g
B | g BT EE B TR
&K B
5
X
£
fli 5 3 4 3 3 3 3 2 3 29 4 1 1 35 6/5
&K
o i, 1 EL | E B2
3 Ji& F 1 Hx1|&E fi# 1
N = HH 1
N
= 3 14 |3 3 3 3 2 3 29 4 1 1 35 6/5
3
5 H, N ERNERNEE
i~ i F1 %K1 | & &1
YN = 1| 1




IR EEE(A)
LN g
# m| REEE
o | B | B IR . BT EETE BZE
. | B e ‘ B S
W | B || (MR | £ BB FRIEFERRE) | (coavp) R
X (#EmET 5 g §£ E OB | HEA
&R =]
E5d
1 |(1
10 | (10
L . 0- |0- | (101 ( (10-
F (20-30%) 15 | 15 | 5%) ;)5 ;)5 15%) | 30 4 34 6/5
& %) | %) I
5 | | 4 4 |4 |3 4 |3 |3
1098 2 & = WR? K738y sds i
ot o b e S Emt /TR NEBt/TEY
AL TR S A & % F %
H s AT 7 v eE A 1 1
P R AB Y 1 1
PFEMAR/ R/ REF L A | L YT R e 1 1
MG AT/ % R/ RATE T e T iR 1 1
SEH A R/ B AL/ HRALIE T R VAR 5 1 1
SR A AL/ B AL R A W g 1 ]
L keI 6 6




T ARG A

From R

¥4 Rk HEFY A TR C

a2 i 4B W e e SN

- AT WL E AR E W Jies e eEAE i . LHAEL 5 A 5 g2 heps
i 4 i UL B R mias i TR S CRLE B VR 1 AR

[ ENEY

FIEEY

v i %

L

T-AL f A ff i

J-Bl ik &2

J-Bl kit &2

JCl 2% %

J-C2 & e 8 ¥

"E ) gk

Bl a4 J-B2 Tk J-B2 % i J-C2 & it 8 ¢ J-A2 Sz A 44
J-Cl >~ % % J-C2 £ it ¥ J-C3 suzssm 2 J-C3 w4
J-C3 W%

SEM AR | SLECM O RE/ B RE/GR | AARER B E A H e FufEME G RE/ & RE/ | MREMA {g/% | sEMa gg/:% 1a/
s HF L AR G RALIF 1 AR /RALIF 3 A RALIF 7 PR
1A PRAZ L AR

YK
-t BRE/E 7R AL B AL B TR AT B oAk Ak 51 a3

LGRS R (L&~ %S )

- SBHEEmE/IEIL| Y %iﬁ’:i“ﬂq ~+a TOAGRAL A A PB4 52 a3

R ﬁ?r* CERSLE | AR R (F#-~2F)

A B /A a | BTk %“ﬁ Wi | FoTHTRE PEHEL L P FTg a3k — b

PeRrs W~ R RE 4ORE B R (23~ PR

N I ENTE i FOT R PEHFT 2 AT T2 RE k-t
s AR (7B~ R %)

1t v berk /R S L 1 g | a3t -t

$ R T e B (gL t¥1)

17 ERAPpOFAR/ T O FEE £ T eheriAg ) a3 —

(F8 % 2)




